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Above Ground Protocol

m Recdl - Estimation of carbon stored in stem wood Is
atimber inventory/ growth and yield exercise

= \We need to obtan an estimate of the volume or
weight of ssem wood and then convert this estimate

to tons of carbon

x NO

E — approximately one-haf of dry wood weight

IS carbon, hence If we can estimate dry weight of
stem wood we can easlly convert it to weight of
carbon by multiplying by Y2




Above Ground Protocol

We can use the following relationship to convert cubic
volume of green wood to carbon weight in wood

SGIB :WD/VG
D

WElS

SGg = basic specific gravity
W, = dry weight of wood

Vs = green volume of wood

D\vae = density of water = 624 |bg/ ft*




Above Ground Protocol

WD — (SGB)(DWater)(VG) — 62-4(868)(\/(;)

W, = (0.5)W,

Example —we have 1000 cubic feet of loblolly pine
wood per acre (green volume inside bark - V)

Average SGg for loblolly pine is about 0.47,
therefore we can estimate dry weight of wood as

W, = 62.4*0.47* 1000 = 29,328 Ibs
W, = 14,664 |bs or about 7.3 tons




Basic Specific Gravity by
Species/ Group

Species/Species Group Specific Gravity
Loblolly pine (PinustaedalL.) 0.47
Slash pine (Pinus dlliottii) 0.54
Longleaf pine (Pinus palustris) 0.54
Other pines (Pinus spp.) 0.46
Soft Hardwoods' 0.46
Hard Hardwoods’ 0.58




Above Ground Protocol

= Note—we can estimate dry weight of wood from green
weight of wood as.

Wy = (1-MCg)* W
Where:
Wy = dry weight of wood
W, = green weight of wood
MC; = moisture content of wood defined as.

MCg = (Wg —Wp)/ Wg




Above Ground Protocol

m Suppose we have estimated 75 standing green tons of
wood in aloblolly pine stand

= From the work of Clark and Daniels (2000) we can
obtain an estimate of MC, to be 53.5% or 0.535

m [hus, we can estimate sanding dry tons to be:

Wp = (1-MCg)* We
= (1-0.535)*75 = 34.875tons

m Of course, carbon Isthen estimated to be
approximately 17.4 tons (1/ 2 of W)




Above Ground Protocol

s Clark, A and R. Daniels. 2000. Estimating
moisture content of tree-length roundwood.
TAPPI — Pulping/ Process & Product Qudlity
Conference Proceedings.




Above Ground Protocol

= Recdl, to determine standing tons of carbon in atimber
stand we can follow norma cruising practices to obtan
one of the following:

= |nsde bark green volume (i.b. cubic foot volume equation -
V)
= Insde bark green weight (i.b. green weight equation - W) in
conjunction with alegitimate estimate of moisture content
= Insde bark dry weight (i.b. dry weight equation - W)
s Makethe appropriate caculation to convert the
avalable estimate to carbon weight




Entities With Reliable | nventory

s Sand leve probability samples avallable with
estimates of standing tree volume or weght

= Conducted by registered forester

= < 10yearsold

= Sample precison <= 15% estimated Allowable Error
(AE)

= Use converson procedures to obtan estimates of
carbon weight




Individual Tree Volume/ Weight
Equation Examples

= Harison, M. and B. Borders. 1996. Yied prediction
and growth projection for ste-prepared loblolly pine
plantations in the Carolinas, Georgia, Alabamaand
FHorida PMRC Technica Report 1996-1. The

University of Georgia. 59 pp.

m Penaar, L.V, e d. 1996. Yield prediction for
mechanicaly ste-prepared dash pine plantationsin
the Southeastern Coasta Plan. PMRC Technica
Report 1996-3. The University of Georgia. 57 pp.




| ndividual Tree Volume/ Weight
Equation Examples — Cutover Sash Pine

VOB, = .00456D*"*°H®*" - 00265(D,,>***/D***) (H - 4.5) (1.1)

VIB,, =.001735 D*®* H"*"*° - 00200 (D, **™/D"**)(H - 4.5)

VOB = cubic foot volume outside bark (ob)
VIB = cubic foot volumeinside bark (ib)

D =tree DBH (inches)

H =total tree height (feet)

Dm = merchantable top diameter (ob)




| ndividual Tree Volume/ Weight
Equation Examples — Cutover Sash Pine

GWIB,, = .1047D*P* 102210 0892 (D> 7/ D% (H — 4.5)
DWIB,, = .0373 D027 1 0458 (D> 741/ DY7%Y (H — 4.5)

DWIB,, =.0383 D "** H"** A . 0454 (D, /D™ H - 4.5)  (1.10)

GWIB = green weight inside bark (ib) (I1bs)
DWIB = dry weight inside bark (ib) (lbs)
D =tree DBH (inches)

H =total tree height (feet)

Dm = merchantable top diameter (ob)

A = stem age




| ndividual Tree Volume/ Weight
Equation Examples — Cutover Sash Pine

[Hlustrative Example

Use of the volume, taper and weight equations are 1illustrated below for a tree with
D = 10 inches and H = 60 ft. The equation used to obtain the estimate 1s given in
parentheses.
Volume:

VOB, = 1494t  (1.1) VIB, = 12.04 ft’

VOB, = 1452  (1.1) VIB, = 11.67 ft’

VOBg = 8.76 ft° (1.1) VIBg =7.18 ft’

NOTE — VOB =14.52 ft3isfor a4 inch top not O inch top.




| ndividual Tree Volume/ Weight
Equation Examples — Cutover Sash Pine

Wy = (g ) (Dyarer )V ) = 62.4(SG5) (V)

For slash pine average basic specific gravity is 0.54
Sofor VIB, = 1167 ft3 we can estimate dry weight of wood as:
Wy = 62.4(0.54)(11.67) = 393.2 pounds

H ence our estimate of sequestered carbon is 0.5(393.2) = 196.6
pounds




| ndividual Tree Volume/ Weight
Equation Examples — Cutover Sash Pine

Green Weight:
GWOB; = 875.6 lbs (1.7) GWIB; = 780.4 1bs (1.8)
GWOB, = 846.8 lbs (1.7) GWIB, = 755.8 Ibs (1.8)

GWOBg = 515.4 Ibs (1.7) GWIBg = 467.1 1bs (1.8)

Recall - Wy = (1-MCy)* W
|f we assume average M C, for slash pine is about 50% (0.50) we find

For GWIB, we find Wy = (1-0.5)*(755.8) = 377.9 Ibs and Carbon = 189 Ibs




| ndividual Tree Volume/ Weight
Equation Examples — Cutover Sash Pine

Dry Weight:
Age 15 Age 25
DWIB, = 384.5 1bs (1.9) 376.9 1bs (1.10) 392.51bs (1.10)

DWIB4 =374.9 1bs (1.9) 367.2 1bs (1.10) 382.8 1bs (1.10)

DWIBg = 236.6 1bs (1.9) 228.7 1bs (1.10) 244.3 1bs (1.10)

Clearly, it isvery straight forward to estimate carbon if you are calculating dry
weight of wood — simply multiply by 0.5 to estimate carbon to 4 inch top to be 191

Ibs




Entities With Reliable | nventory
Carbon Tables

= Two genera goproaches (use of Carbon Tables and use of
Growth and Yidd (G & Y) software with appropriate
conversons)

= Carbon tables — find appropriate carbon table for stand type/ age

of Inventory — determine average annual carbon accumulation

from table for ages between inventory age and start of carbon
contract — add the carbon accumulation from the table to the
Inventory estimate

= Determine carbon accumulation during contract period and add

thisto the carbon present at start of contract period to obtain
final standing carbon




Entities With Reliable | nventory
Carbon Tables

m Carbon Tables developed for mgor stand types
found in Georga

= Each table presentstons of carbon by age and

product (pulp DBH <= 11.5" plus 15% degrade
from sscemswith DBH > 11.5” and sawtimber
DBH > 11.5” minus 15% degrade to pulp)




Entities With Reliable | nventory
Carbon Tables

s Many factors impact growth and yield of timber stands:
m Species/Species Mix
= Site quality (site index)
= Sand origin (planted cutover, planted old field, natura

regeneration)
= Sand dengity (trees/ acre, basd aredl acre)
= Thinning condition (unthinned, one or more thins)
= Management Intensity
= Levd of Genetic Improvement (if planted stand)




Entities With Reliable | nventory
Carbon Tables

m [ablesdeveloped for dl combinations of the
following categories:

= Joecies— Loblolly pine, Sash pine, Longleaf pine,
Hardwood

= Origin — Planted cutover Ste, Planted ag field (CRP),
Naturd regeneraion

= 3te Index Class (base age 25 for planted stands, base
age 50 for naturd stands)

= Low, Medium, High (classes vary by species— see protocol)




Entities With Reliable | nventory
Carbon Tables

m [ablesdeveloped for dl combinations of the
following categories:

= Sand density a planting— Low (<=5/5 trees acre) and
High (> 575 treed acre)

= Sand dengty for natura regeneration — Low and High
(class limits vary by species— no dengity classes for
hardwood stands)

= Thin History — Unthinned or Thinned




Entities With Reliable | nventory
Carbon Tables

m [ablesdeveloped for dl combinations of the
following categories:
= Management Intensity (planted stands only)
m Extensive

= No vegetation control via herbicides
= No fertilization

m [ntensive
= Successful woody vegetation control at Site preparation

s Herbaceous weed control in year of planting
= Fertilization following thinning operations




Entities With Reliable | nventory
Carbon Tables

m [ablesdeveloped for dl combinations of the
following categories:
= Leve of Genetic | mprovement (planted stands only)
= Unimproved (if unknown stands established < 1986)

m First generation improvement (if unknown stands established
between 1986 and 1999)

m Second generation improvement (if unknown stands
established 2000 forward)




Age |PWCarbon|STCarbon|PWThin| | | |
| 5 144 0 o o | |
6] 304 o o | |
7 47y 0 o o | |
8] 648 @ o o | |
9| 827) o o | |
10 101 0 0 | [

Header record (left to right):

Species = Lablolly pine
Stand origin = Planted
Site Index Class= High
Stand Density Class= L ow

Management Intensity = Int (intensive) or Ext (extensive)

Genetic Improvement = Ul (unimproved) or 1G (1% generation) or 2G (2nd
gener ation)

Physiographic Region = LCP (lower coastal plain), PID (piedmont) or ALL (no
regional differences available)

Tabletype = CC (clearcut table—no previousthinning), T14, T15, etc.. (table for
standsthinned at age 14, age 15, etc.)




LoblollyPlanted [High _ [Low _[int[Ur [LCP[CC |
| |
| 5] 144 o o [ | | |
|6 304 o o [ | | |
|7 4m] o o [ ] ] |
|8 648 o o [ | | |
o 827 o o [ | ] |
|10 1oa] o o [ | [ |
| 11] 1194 0 o o [ | [ |
|12 137a] oo8] o [ | | |
|13 1544] o018 of | | | |
| 14] 1709] o035 814 | | | |
|15/ 1862]  062] 94 | |
16| 2003] o098 1064] | | | |
[
| 22| 2546] 552 17.47] | | | |
| 23] 2585] 666l o | | | |
| 24] 2612] 788 @ of | | | |
| 25]  2626] 92| o | | | |
| 26| 2629] 1059 o | | | |
| 27]  2622] 1204 o | | | |
| 28] 2606] 1354 of [ | | |
|29 2581 1509 o [ | | |
|80 255 1666 o [ | | |
| 81] 2513] 1826] of | | | |
| s2] 2472] 1989 o [ | | |
| 33] 2427] o151f o | | | |
|34 2379] 2312 @ of [ | | |

| 86| 2279] 2631] o [ | | |
| 87| 2228] 2786 o | | | |
| s8] 2177] 2939 o [ | | |
|39 2127] 3088 o [ | | |
|40 2078] 32371 o | | | |
| 411 2031 3379 @ of [ | | |
| 42] 1086] 3517 o [ | | |
| 43] 1043] 365 o [ | | |
| 44 19| 3781l of [ | | |
| 45] 1859] 3908 o [ | | |
| 46| 1821 403 o | | | |
| 47] 1786 4147 o | | | |
| 48] 1754] 4259 @ of | | | |
49| 1726|4371 o [ | | |

Planted Loblolly, High Ste, Low
Density,

| ntensive Management, Unimproved
Genetics,

Lower Coastal Plain, Clearcut table (i.e.
no past thinning)




Entities With Reliable I nventory
Carbon Estimation — Use of Tables

m Let’sassume we have acruise from a 15 year old dash pine
plantation that was carried out 4 years ago. From the
cruise work up we estimate that there were 8 tons' acre of
pulpwood carbon (ssemswith DBH <=11.5" to 3" top

dob). Note, we need to determine carbon for current year.

= Further, we are negotiating for a carbon offset contract
that will be in effect for the next 10 years— therefore, we
need to determine how much carbon will be accumulated
over this 10 year period




Entities With Reliable I nventory
Carbon Estimation — Use of Tables

m From avalable data, we dso determine that
= 3, = 60 area(i.e. medium Ste quaity),

= The stand was planted with fewer than 575 tpa(i.e. low
density)

= 18 Generaion planting stock was used

= [he stand was managed extensvely (i.e. no herbicide
treatment, no fertilization) and it has never been
thinned.

= To keep things smple, we will assume that no thinning
will occur during the 10 year contract period.




Age  [PWCarbon [STCarbon [PWThin| | | [ |
s o o o | | [ |
e[ o002l of of | | [ |
| 7 oagl o o | | | |
8 o6 o o | | [ |
| of 123 @ of of | | [ |
| 1o 208 o o | | [ |
11 312l  of of | | [ |
| 12 404 @ of of | | [ |
| 18] 497] @ of of | | [ |
| 14 59 o o | | [ |
| 15] e85  of of | | [ |
16 779l of of | | [ |
| 17] 873l o o032 | | | |
| 18] 966 o o77[ | | | |
|19 1059 @ of 125 | | [ |
|20 aa5] 0 of a7l | ] [ |
| 21 1238] @ of 217 | | [ |
| 22 1315] o0a11] 266] | | | |
| 23] 1389 @ o02[ of | | [ |
| 24 1457 o34 o | | | |
| 25| 1517] o054 o | | | |
|26 1568] o078 o | | [ |
| 27] 1e1]  107p o | | [ |
| 28] 1645] 14 o | | [ |
|29 1672 18] o | | [ |
| 3o 1691] 223 o | | [ |
| 31 1704 269] o | | | |
| %2 azaa]  317f of | | [ |
| 33 1712l 3e8f o | | [ |
| 34 171 422 o | | | |
| 35  a708] 475) o | | | |
| 36 1693] 529 o | | [ |
| 37l 168 582 o | | [ |
| %8 1665 635 o | | | |
| 39 1649] 689 o | | [ |
|40 1631 741 o | | [ |

PW Carbon at age 15 = 6.85 tons/ acre
PW Carbon at age 19 = 10.59 tons/ acre

PW Carbon change over 4 years = 3.74
tong/acre

Therefore, we estimate that our stand
currently has8 + 3.74 = 11.74 tong/acre




Planted Med Low
PWCarbon |STCarbon |PWThin
0
0.02
0.18
0.6
1.23
2.06
3.12
4.04
4.97
5.91
6.85
7.79
8.73
9.66
10.59
11.5
12.38
13.15
13.89
14.57
15.17
15.68
16.1
16.45
16.72
16.91
17.04
17.11
17.12
17.1
17.03
16.93
16.8
16.65
16.49
16.31

At age 19 our stand has8 + 3.74 =11.74
tons/acre of carbon

During the contract period, the stand will
move from age 19 to age 29 years.

PW Carbon at age 19 = 10.59 tong/acre

=l =l (=l (=l [=]l[=]l(=]l[=]l[=]l[=](=]

ST Carbon at age 19 = 0 tons/acre
PW Carbon at age 29 = 16.72 tons/acre
ST Carbon at age 29 = 1.8tong/acre

o

o
w
N

o
\I
\l

=l (=]l [=l[=l[=]l (=]l [=]l[=l[=l (=]l (==l (=]l (=]l (=] (=]

N
o}
>

o

PW Carbon Change over 10 years=6.13
tons/ac

ST Carbon Changeover 10 years=1.8
tons/ac

At end of contract we have11.74 + 6.13=17.9
tons/ac PW Carbon and 1.8 tons/ac ST
Carbon

=l =l =l [=l =l [=l =l =l (=l [=l (=l (=l =l [=l(=]ll=]]=]




Entities With Reliable I nventory
Carbon Estimation — Useof G & Y Software

= Now, | will lllustrate use of G & Y software — specificaly,
| will use SMS 2006 (the system used to develop the
Tables discussed above — however any generdly
recognized growth and yidd system should be adeguate)

= Based on our cruise a age 15 we know the following:
m Age=15, Sl =60 feet
m TPA @ 15 = 430, 1% Generation Stock was Planted
m Extensve Management (no herbicide, no fertilization)

= Thisinformation is entered into SMS 2006 and an extensive
management scenario Is simulated assuming no thinning




Entities With Reliable I nventory
Carbon Estimation — Useof G & Y Software

SiMS 2006 Output Yield = Cubic Feet of Wood

Age

Yield

Yield

Dry Wt PW

Dry Wt ST

PW Carbon

ST Carbon

Pulpwood

Sawtimber

1,096.9

0.0

36961.1

0.0

9.2

1,244.5

0.0

41934.7

0.0

10.5

1,388.2

0.0

46776.8

0.0

11.7

1,527.3

0.0

51463.9

0.0

12.9

1,663.8

0.0

56063.4

0.0

14.0

1,794.0

0.0

60450.6

0.0

15.1

1,918.2

0.0

64635.7

0.0

16.2

2,022.9

15.6

68163.6

525.7

17.0

2,122.0

29.2

71502.9

983.9

17.9

2,208.0

49.3

74400.8

1661.2

18.6

2,280.3

79.5

76837.0

2678.8

19.2

2,338.0

116.2

78781.2

3915.5

19.7

2,381.4

160.8

80243.7

5418.3

20.1

2,411.2

212.7

81247.8

7167.1

20.3

2,429.0

274.4

81847.6

9246.2

20.5

2,435.1

339.8

82053.1

11449.9

20.5

2,431.3

409.8

81925.1

13808.6

20.5

2,418.9

483.2

81507.3

16281.9

20.4

2,399.9

562.4

80867.0

18950.6

20.2

2,374.5

640.8

80011.2

21592.4

20.0

2,344.4

719.9

78996.9

24257.8

19.7

2,310.5

798.9

77854.6

26919.7

19.5

2,273.8

877.1

76618.0

29554.8

19.2

2,235.6

957.5

75330.8

32263.9

18.8

2,195.6

1,033.4

73982.9

34821.4

18.5

2,154.9

1,107.4

72611.5

37315.0

18.2




Entities With Reliable I nventory
Carbon Estimation — Useof G & Y Software

Recall — our inventory estimate at age 15i1s 8 tons/ acre PW
Carbon

The PW C accumulation from age 15to age 19is 4.8tons/ acre —
add this amount to find PW C at start of contract to be 12.8
tons/acre

PW C from age 19 to age 29 changes by 6.5 tons — add thisto 12.8
to determine we expect 19.3tons PW C at age 29 and we expect
2.3tons ST C at age 29

Of course, we can simply use the accumulation from age 19to
age 29 directly from the simulation output as the expected
Carbon accumulation by product during the contract period —
we go through the process above if we need to have best
estimate of total standing carbon at a given age




Entities With Reliable | nventory
Carbon Estimation — Verification

Verification isrelatively straight forward — use the inventory
as updated to the start of the carbon contract year

Carry out another inventory at end of the carbon contract
year —

Take the difference between inventory at end of contract

(C,) and at start of contract (C,) to obtain an estimate of the
gain — Assuming both inventories are independent the
estimate of gain isssmply

Gan=C,-C,




Entities With Reliable | nventory
Carbon Estimation — Verification

Variance of the Gain is= (Sd Error 1)2 + (Std Error 2)?

Std Error of Gain = sgrt(Variance of Gain)

NOTE — C, may be the result of adding atabled amount of
C to the inventory C from several years ago —you will know
the standard error of C at inventory but not the standard
error associated with the modeled gain (this number can
not be calculated) — therefore an adjustment tothe C
standard error at inventory should be made by multiplying
by afactor of 12 (i.e. an arbitrary increase in standard error
of 20%) — this factor may be modified based on future study
of thisissue




Entities Without Reliable | nventory

= Registered forester examines the stand and identifies
= Major species
= Sand origin (planted cutover Ste, planted ag. fidd, natural)
= Stand age
= Sitequality class
= Sand dengity (low, high)
= Thinning condition (pine stands only)
= Management intensity (planted pine only)
= Levd of genetic improvement (planted pine only)




Entities Without Reliable | nventory

m Use appropriate carbon table to assess carbon at start of contract
period
m Use appropriate carbon table to assess carbon at end of contract
period
= Takethe difference between end of period and start of period (on a stand
by stand basis) and determine the carbon accumulation over the contract
period
NOTE — it should be understood by both buyer and seller that
carbon accumulation estimates determined from regional tables
will not be as accuratel precise as those starting from inventory
data— nor from growth and yield syssems that are set up to more
closealy represent the stand(s) of interest.




Entities Without Reliable | nventory

m Example— you have aLoblolly pine plantation planted in
1995 in the Piedmont of Georga

m Based on examination of the stand, discussion with the
landowner and examination of avalable records the
following information is determined

= Stelndex Class= Medium

= |nitid Dengty Class= Low

= Management = Extensive (no use of herbicide or fertilizer)

= Genelic Improvement is unknown so use the default for this
time period = 1G

= No thin history




CC

5 o 0

| 02[ 0
| 104  of 0
| 214  of 0
| 336  of 0
| 451] of 0
| 568  of 0
| 0
| 0

1.9

2
0

942 0
1075 0

| 1212 O

| o] 45
| 0] 54
0
0
0

1
8.1
1

6
8
| 683 0
3
5

3

I
5] [
| 6] I
[
| 8] I
9] I
| 10] I
11 I
| 12| I
| 13] I
| 14] I
| 15] I
| 16| I
| 17] 5| | |
| 18]  14.03] | 543] | |
|19  16.37] | 637] | |
| 20|  17.82] | 731] | |
| 21]  19.27] | 828] | |
| 22| 2064 008 932] | |
| 23] 2108 02 of [ |
| 24] 2321] o041 o] | |
| 25  243] o074 @ of [ |
| 26| 2521 126 O] | |
| 27] 2592 195]  of [ |
| 28] 2642] 285 O] | |
|29 2669 395 @ of [ |
| 30] 2675] 523 O] | |
| 31] 2663 671 @ of [ |
| 32] 2633 834 O | |
|33 2588 1009 @ of [ |
| 34 2531] 1193 @ of [ |
| 35] 2465 1385 O] | |
| 36| 2303 1583 @ of [ |
| 37] 2316] 1783] O] | |
|38 2237] 1083 @ of [ |
| 39] 2157] 218 O] | |
40l 2077] 2378] 0 [ |

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
9

L and owner will enter into a
contract for 10 years

Current C (age 12) = 6.88 tons
Pulpwood

Future C (age 22) = 20.64 tons
Pulpwood, 0.1 tons Sawtimber

Gain over 10 years = 13.86 (14 tons)




Entities Without Reliable | nventory

= Example — you have aLoblolly pine plantation planted in
1988 in the LCP of Georga

m Based on examination of the stand, discussion with the
landowner and examination of avalable records the
following information Is determined

= Stelndex Class= High

= [nitid Dengty Class= High

= Management = | ntensive Genetic |mprovement is unknown so
use the default for thistime period = 1G

= Thinned at Age 17




Loblolly

Planted

High

Age

PWCarbon

STCarbon

18

12.08

1.39

19

12.85

2.29

20

12.97

4.09

21

12.99

5.76

22

13.02

7.49

23

12.84

9.48

24

12.61

11.41

25

12.38

13.34

26

12.16

15.27

27

11.96

17.15

28

11.85

18.88

29

11.82

20.49

30

11.79

22.11

31

11.75

23.68

32

11.72

25.23

33

11.69

26.75

34

11.64

28.25

35

11.6

29.67

36

11.56

31.07

37

11.53

32.46

38

11.51

33.82

39

11.53

35.06

40

11.59

36.22

L and owner will enter into a
contract for 15 years

Current C (age 19) = 12.9tons
Pulpwood, 2.3 tons Sawtimber

Future C (age 34) = 11.6 tons
Pulpwood, 28.2 tons Sawtimber

Gain over 15years=-1.3tons
Pulpwood, 25.9 tons Sawtimber

Gain over 15 yearsall products
combined = 24.6 tons




Entities Without Reliable | nventory

= \We could aso use an gppropriate growth and

yield system and convert yield output to carbon
tons as shown earlier

= \WWhy would using agrowth and yield model be
preferred?

= Can talor the management more specificaly to the
stand(s) in question — this can be important If
management intensity Is more intensive than
assumed for table development or If transaction
requires more confidence in estimeates




Questions/Comments?
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